Spare Parts List For K2 Range
Sliding Door

P «~@® X6
& CAP-50 3.5X10mm SCREW
/ X 10
SCREW PACK CAP-58 4X45mm SCREW
FOR 6% D X6
SLIDINGDOOR | \wa|| PLUG CAHB-49B
SCP-K2SLD
X 12
SCREW CLIP CAPY-02
X 12
SCREW COVER CAP CAHY-05
ROLLER £ o2 X 4
P162-K2SLD CHANNEL CAP FOR &
SLIDING DOOR P162
CAP PACK FOR CAHY:M pid X2
CP-K2SLD SLIDING DOOR CAHY-815V X2
2% X2
CAHY-803W
F SHAPE HANDLE o X1
FHD-K28LD FOR SLIDING DOOR SHP-FBO2
_SL-K2SLD T3
SL-K25LD9 o CAS-304K X 1
(1900H) SLIDING DOOR b
PMS-K2SLD
—_— PROFILE AND g X1
MAGNETIC STRIP R8.8X4.6
PMS-K2SLD9 FOR E X 1 X 1
(1900H) SLIDING DOOR
A276 R8.5X
B X2
ROLLER PACK
RP-EK2SLD roR SHYEWoT
SLIDING DOOR @@ X 2
SH-VSWO08
/
oskiecom | Segrronconer | 0023 X2
AND SLIDER DOOR CAS-307A
CAS-18K2 VERTICAL GASKET .U:l X 1(2m)
FOR SLIDING DOOR CAS-18
CAL-K2803W9 WALL PROFILE FOR BIFOLD AND «® X1
AND PIVOT DOOR 1900H CORHER BN 3.5X10mm SCREW
CAL-K2803W ,WALL PROFILE FOR BIFOLD AND CAHY21-K2COM| XD SLIDER DOOR
SLIDER AND PIVOT DOOR (WITH SCREW) & x1
CAL-K2817D, TOP AND BOTTOM HORIZONTAL CAHY-21
PROFILES FOR SLIDING DOOR 1000 GLASS CLIP FOR «® X
CAL-K2817E, TOP AND BOTTOM HORIZONTAL It L 4X14mm SCREW
PROFILES FOR SLIDING DOOR 1050 CAHY47-K2COM|  AND SLIDER DOOR 4
CAL-K2817 T, TOP AND BOTTOM HORIZONTAL AT TrANDCE A
CAHY-47
PROFILES FOR SLIDING DOOR 1100 RIGHT HAND)
CAL-K2817 F, TOP AND BOTTOM HORIZONTAL TOP ROLLERFOR _ B
PROFILES FOR SLIDING DOOR 1150 HEK2-01COM ENTRY AND SLIDER > X1
CAL-K2817U, TOP AND BOTTOM HORIZONTAL DOOR SH-VSW07
PROFILES FOR SLIDING DOOR 1200 BOTTOM ROLLER FOR L X1
CAL-K2817V, TOP AND BOTTOM HORIZONTAL HEKZD2COM | Shpme b oo SH?@SWM
PROFILES FOR SLIDING DOOR 1400 o1 M. =
CAL-K2817W, TOP AND BOTTOM HORIZONTAL SHAPE HANDLEFOR | =0 | X1 =] X 1
PROFILES FOR SLIDING DOOR 1500 FHD-EK2COM | SLIDER,QUADRANT,
CAL-K2817X, TOP AND BOTTOM HORIZONTAL CORNER ENTRY,PIVOT SHP-KNOB
PROFILES FOR SLIDING DOOR 1600 AND BIFOLD DOOR.




